| Efficiency vs Dxy |

> 0.2
x M .
yo! r : :
0 0,18
> E |

B0.16[ o
§0.14_— ----- oo =
0,12 -rresbereeeeesone
O

=
(5]

[
||||p| TT

.................................................

| Efficiency vs Dz |

N 0.2
© ; :
20.18F L ;

>

£0.16F
S [
£ 014
Q
0.12
0.1 4-:--
0.08
0.06

Ratio

0.04 |-}

0.95,

10 15 20
TP dxy (cm)

—=— DQM_original_stepZ_itbar-phasel-newgeom
—e— DQM_mkFit_step2_ttbar-phasel-newgeom
—— DQM_angle_step?2_ttbar-phasel-newgeom

.............................

—+— DQM_fast_step?2_ttbar-phasel-newgeom

I3

Illlllllllr'llllllll

Ed "
: 4 :
1t E S

- dd-FH L SRR HA B

E o4 : - SERRY |

30 —20

10 0 10 20 30

TP dz (cm)




	Contents
	Page 1


